
1) (8 x 19) - (9 x 16)

Answer: ____________

2) (9 x 25) + (5 x 12)

Answer: ____________

3) (5 x 101) + (8 x 103)

Answer: ____________

4) (9 x 56) - (7 x 1-3)

Answer: ____________

5) (4 x 64) + (10 x 25)

Answer: ____________

6) (4 x 91) - (9 x 58)

Answer: ____________

7) (5 x 75) - (10 x 89)

Answer: ____________

8) (7 x 96) + (8 x 98)

Answer: ____________

9) (5 x 42) + (4 x 71)

Answer: ____________

10) (9 x 1-5) + (9 x 87)

Answer: ____________

Total: ___ / 10
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Answers:

1) -1 2) 293 3) 8050 4) 140618 5) 5504 6) -3515589 7) -1342093245

8) 348093855 9) 108 10) 18874377
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